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A Baker From Goa

By- Lucia Rodrigues

About the author- Lucio Rodrigues
e Lucio Rodrigues (1916-73) was a great Konkani essayist.
e He wrote several articles in English and Konkani to various periodicals and magazines.
e He served as the visiting professor of Folklore at many universities and also as a professor of English in
Mumbai and Goa.
e His essays were posthumously published under the title ‘Of Soil and Soul’ and Konkani Folk Tales’.
e Subtle humour and informal narration are the essential features of his writings..
About the story

Elders often think fondly of good Portuguese days and their famous loaves of bread.

The age-old furnaces still bake those bread.

The thud and jingle of the baker’s bamboo announcing his arrival can still be heard in some places.
Even today, these bakers are known as Pader in Goa.

The children ran to meet and greet him.

They longed for bread-bangles and sweet bread of special make.

Marriage gifts were meaningless without the sweet bread known as the ‘bor.

The lady of the house must prepare sandwiches on the occasion of her daughter’s engagement.
Cakes and “bolinhas’ are a must for Christmas and other festivals.

The presence of the baker’s furnace in the village is absolutely essential.

The bakers in the old days used to wear a dress known as the kabai.

Baking was quite a profitable profession in the old days.

The baker and his family always looked happy and prosperous.

THEME The writer presents a pen-portrait of a traditional Goan village baker who still has an
important place in its society.

Character sketch

The Baker of Goa:

The baker or the pader used to be an essential part of the Goan’s life.

The baker or bread seller had a peculiar dress during the Portuguese days.

It was known as the Kabai.

It was a single piece long frock reaching down the knees.

With the passage of time, he started wearing a shirt and trousers which were just longer than the short
pants.

The baker and his family always looked happy and prosperous in the good old days.

e His sweet bread or the boys are still the part of feasts, marriages and Christmas in Goa.

Extract Based Question (Solved)




1. He used to come at least twice a day. Once, when he set out in the morning on his selling round, and
then again when he returned after emptying his huge basket’.

(@) Who is ‘he’ and where is he from?

(b) Name the items he sold from his huge basket.

(c) When did he come during the day?

(d) Where did he empty his huge basket?

Ans. (a) ‘He’ is the ‘baker’. He is from ‘Goa’.

(b) Bread loaves, cakes, bread—bangles, sweet bread, etc.

(c) He came twice—once in the morning on his selling round and again after the sale was over.

(d) He emptied his huge basket in the houses of his customers.

2. The baker usually collected his bills at the end of the month. Monthly accounts used to be recorded on
some wall in pencil. Baking was a profitable profession in the old days. The baker and his family never
starved. He, his family and his servants always looked happy and prosperous. Their plump physique was
an open testimony to this. Even today any person with a jackfruit-like physical appearance is easily
compared to a baker.
(a) Where were the monthly accounts of the baker recorded?
(b) Why did the baker and his family never starve?
(c) Why did the baker and his family always look happy and prosperous?
(d) What are bakers compared within today’s time?
Or
(a) When did the baker collect his bills?
(b) How can you say baking was a profitable profession?
(c) Who is being described in the above passage?
(d) What kind of business was baking considered?
Ans. (a) On some wall in pencil.
(b) Because baking was a profitable profession.
(c) Because they never starved as baking was a profitable business.
(d) A person with a jackfruit-like physical appearance.
Or
(a) At the end of the month.
(b) Because the baker and his family always looked happy and prosperous.
(c) The baker.
(d) Baking was a profitable business in the old days.

Extract Based Questions (Unsolved)

1. .The baker made his musical entry on the scene with ‘bang, jhang’ sound of his specially made bamboo
staff one hand supported the basket on his head and the other banged the bamboo on the ground.

(a) How did the bakers announce their entry?

(b) How were both of his hands occupied?

(c) How did the baker make his entry musical?

(d) How did he balance the basket on his head?

2. The presence of the baker’s furnace in the village is absolutely essential. The baker or bread-seller of
those days had a peculiar dress known as the habai. It was a single piece long frock reaching down to the
knees. In our childhood, we saw bakers wearing a shirt and trousers which were shorter than full-
lengthones and longer than half pants. Even today, anyone who wears a half pant which reaches just
below the knees invites the comment that he is dressed like a pader!

(a) Why is a baker essential in the Goan village?



(b) How is a traditional baker recognised?
(c) What is a person called if he wears half pant that reaches just below his knees?
(d) What does the passage tell us about?

Short Answer Type Question (Solved)

1. What did the baker mean to the narrator during his childhood? How many times did he pay a visit?
Ans.
e The baker or pader was an important person in the author’s life.
e He was treated like a friend.
e He used to come twice a day, once in the morning to sell the bread and then while returning after
emptying his basket.
e The author used to run to meet him in order to take the bread-bangles.
e He chatted and gossiped with him.
2.What were the bakers called? Describe their peculiar dress.
Ans.
e The bakers were known as pader.
e These bakers wore a peculiar dress known as the ‘kabai’.
e |t was asingle piece long frock reaching down to the knees.

Short Answer Type Questions (Unsolved)
1. What are the elders in Goa nostalgic about?
2. What did the bakers wear — (i) in the Portuguese days? (ii) When the author was young?
3. “Even today any person with a jackfruit-like physical appearance is easily compared to a baker.”
Explain.
4. Explain with examples that baking used to be a profitable profession.

Long Answer Type Question (Solved)
1. Why was it absolutely essential to have a “baker’s furnace” in a Goan village?
Ans.

e The Portuguese and their famous loaves of bread had made a permanent impact on Goan soil.

e The eaters of those loaves might have vanished but the makers of the loaves — the bakers still have an
important place in the society.

The Goan village still has the mixers, moulders and those who bake the loaves.

There are also the age-old time-tested furnaces which exist till date.

The bakers are still important in the village.

The lady of the house must Prepare sandwiches on the occasion of her daughter’s engagement.

Cakes and bolinhas are a must for Christmas as well as other festivals.

Thus, the presence of the baker’s furnace in the village is still essential.

Long Answer Type Question (Unsolved)
1. Give a pen-portrait of a baker in Goa.
2. Describe the childhood memories of the author’s life in Goa and his fondness for bread and cakes.
3. How is the effect of the traditional bread bakers can still be seen in Goa of today?
4. What was the importance of the baker in the village? What kind of dress did be wear?

VIDEO LINK: https://youtu.be/yNPMrtOX-Bs



https://youtu.be/yNPMrtOX-Bs

SOCIAL SCIENCE (ECONOMICS)

Chapter 3: Money and Credit
Study Notes

TWO MAIN ACTIVITIES OF MODERN BANKING SYSTEM

v

Banks mediate between those who have surplus funds (the depositors)
and those who are in need of these funds (the borrowers)

v

v

Accepting Deposits

v

¥

Advancing Loans

v

At a point of time, people need only some currency
for their day-to-day needs.

Banks keep only a small proportion of their
deposits as cash with themselves.

v

v

People deposit extra cash with the banks by
opening a bank account in their name.

Since, on any particular day, only some of its many
depositors come to withdraw cash, the bank is able
to manage with this cash.

v

v

Banks accept the deposits and also pay an amount
as interest on the deposits.

Banks use the major portion of the deposits to
extend loans.

v

v

People also have the provision to withdraw the
money as and when they require with cheques,

Banks charge a higher interest rate on loans than
what they offer on deposits.

v

v

They are depositors.

They are Borrowers.

1

0

1

The difference between what is charged from borrowers and

what is paid to depositors is their main source of income.




1)

Why do banks maintain cash reserve? (1)

2) How do the deposits with banks become their source of income? [Delhi 2016] (1)
3) What is meant by credit? (1)
4) What is meant by 'debt trap'? (1)
5) In rural areas, the main demand for credit is for which purpose? (1)
6) What costs are involved in crop production? (1)
7) When do farmers take and repay loans? (1)
8) How do banks mediate between those who have surplus money and those who need money? Explain. (5)
Or
Explain any three loan activities of banks in India. (3)
Or
Explain with examples, how people are involved with the banks. (3)
Video Links
https. www youtube com/watch?v = Wi SOpE Ew EXU&L-307s
hitps U waww voutube com watch ™y - vin-a DGAW TDE
Geography assighment (Revision)
1. Name the age-old economic activity in our country.
2. Name the ‘slash and burn’ agriculture.
3. What is jhumming?
4. What is Primitive subsistence farming called in Manipur?
5. What is Primitive subsistence farming called in (Bastar district of
Chattisgarh) or (Andaman and Nicobar Islands) ?
6. Name the type of farming practised in areas of high population pressure

on land.
/. Name the type of farming practised in areas of high population pressure
on land.



8. Name the type of farming, which has an interface of agriculture and
industry.

9. Name any two cropping seasons in India.

10. Name the crop season harvested in summer from April to June.

11. Name the crop grown with the onset of monsoon in different parts of
the country.

12. Name a crop that takes almost a year to grow.

13. Name the crop, which is used as both food and fodder.

14. Which state is the largest producer of jowar?

15. Which state is the largest producer of bajra?

16. Name the crop, which is the major source of protein in a vegetarian
diet.

17. What are leguminous crops? Give an example.

18. Which state is the largest producer of groundnut?

19. Name a crop, which is a kharif crop in north and rabi crop in south
India.

Video Link:-

https://www.youtube.com/watch?v=jVZJPkVh8Bo&feature=youtu.be

https://www.youtube.com/watch?v=AqY7AxZIcTI&feature=youtu.be

Activity:- There are three states marked on the given map. Identify the following
with the help of information.

1.Largest producer of cotton.
2. Largest producer of jute.

3. Largest producer of rubber.


https://www.youtube.com/watch?v=jVZJPkVh8Bo&feature=youtu.be
https://www.youtube.com/watch?v=AqY7AxZIcTI&feature=youtu.be

4. Largest producer of sugar cane

5. Largest producer of Tea.

300 km

© d-maps.com




HISTORY

Chapter -4 ( Age of industrilisation )

Choose and write correct option .

1.

wa o oo N

What did the term orient refer to ?

a. England
b. Asia
c. Russia

d. America

Which is the pioneer country in industrialisation ?
Russia

India

England

None of these

Which among these was a pre- colonial sea port?
a. Visakhapatnam

b. Chennai

c. Calcutta

d. Kerala

Who was jobber?
a. Trusted worker
b. Painter

c. Dancer

d. Solider

Where the first cotton mill set up?
a. Surat

b. Bombay

c. Calcutta

d. Kerala

Why were the weaver tied with the company traders?
a. They were under loan

b. They had no other place to work

c. They had less equipment .

d. None of these

18th century India witnessed the decline of port town ?
a. Surat

b. Bombay
c. Calcutta
d. Madras

The paid servants of the East India company was known as
a. Seth

b. Mamlatdar

c. Gomastha

d. Lambardar

Who devised the spinning Jenny?

a. Samual Luck

b. Richard Arkwright

c. James Hargreaves

d. James watt

10. The fly shuttle was used for

a. Washing



b. Weaving
c. Drying
d. Sowing
Complete the folllwing statements with appropriate words

11. is the first industrial city in England .

12. industry was the flourishing industry of England .

13. Dwarka nath Tagore was an Indian to set up six joint stock companies in
India in 1830.

14. First jute mill was established by ................ in India.

15. In 1850, India started.

VIDEO LINK: https://www.youtube.com/watch?v=Ae4Hi15kqY0&authuser=0

POLITICAL SCIENCE

A party system is a concept in comparative political science concerning the system of
government by political parties in a democratic country. The idea is that political parties have
basic similarities: they control the government, have a stable base of mass popular support, and
create internal mechanisms for controlling funding, information and nominations.

The concept was originated by European scholars studying the United States, especially James
Bryce and Moisey Ostrogorsky, and has been expanded to cover other democracies.[1]Giovanni
Sartori devised the most widely used classification method for party systems. He suggested that
party systems should be classified by the number of relevant parties and the degree of
fragmentation.[2] Party systems can be distinguished by the effective number of parties.

Types of party system

One-party system: a system in which a single political party has the right to form the
government, usually based on the existing constitution, or where only one party has the
exclusive control over political power.

Dominant-party system: a system where there is "a category of parties/political
organizations that have successively won election victories and whose future defeat cannot be
envisaged or is unlikely for the foreseeable future".

Two party system: a system where only two parties or alliances, typically placed either
side of the center, have a realistic chance of forming a majority. Other parties are very minor or
solely regional. Example: The United States

Multi-party system: a system in which multiple political parties have the capacity to gain
control of government offices, separately or in coalition.

Non-partisan system: a system of government or organization such that universal and
periodic elections take place without reference to political parties

Q1 Explain the different types of party system in the world.


https://www.youtube.com/watch?v=Ae4Hi15kqY0&authuser=0
https://en.m.wikipedia.org/wiki/Political_science
https://en.m.wikipedia.org/wiki/Political_party
https://en.m.wikipedia.org/wiki/Government
https://en.m.wikipedia.org/wiki/James_Bryce,_1st_Viscount_Bryce
https://en.m.wikipedia.org/wiki/James_Bryce,_1st_Viscount_Bryce
https://en.m.wikipedia.org/wiki/Moisey_Ostrogorsky
https://en.m.wikipedia.org/wiki/Party_system#cite_note-1
https://en.m.wikipedia.org/wiki/Giovanni_Sartori
https://en.m.wikipedia.org/wiki/Giovanni_Sartori
https://en.m.wikipedia.org/wiki/Party_system#cite_note-2
https://en.m.wikipedia.org/wiki/Effective_number_of_parties
https://en.m.wikipedia.org/wiki/One-party_state
https://en.m.wikipedia.org/wiki/Dominant-party_system
https://en.m.wikipedia.org/wiki/Two_party_system
https://en.m.wikipedia.org/wiki/Multi-party_system
https://en.m.wikipedia.org/wiki/Non-partisan_democracy

Q2 State the demerits of one party system
Q3 Explain the merits and demerits of multi party system.
Q4.Why India has developed multiparty system?

VIDEO LINK: https://youtu.be/LON-fRc52IA

PHYSICS
Link- https://voutu.be/P_SELHhOdPWOQ
Assignment

1) Using three wires of resistances 1 ohm, 2ohm and 3ohm then the no. of different values of
resistances that are possibl.e

a) 6 b) 4 c) 10 d)8
2) Three resistances each of 3(2are connected as shown in fig. The resultant resistance between A
and F is
a) 902 b) 2Q) c)4Q2 d)y1Q
B C D E
Al LA ——eF

3Q 30 3Q

3) A wire of resistance 20 €2 is bent in the form of a square. The resistance between the ends of
diagonal is
a) 10Q2 b) 5Q c)20Q2 d) 15Q
4) There are five equal resistors.
The minimum resistance possible by their combination is 20hm. The maximum possible resistance we
can make with them is
a. 25 ohm b) 50 ohm c) 100 ohm d) 150 ohm
5) An electric current is passed through a circuit containing two wires of the same material, connected
in parallel. If the lengths and radii of the wires are in the ratio 4/3 and 2/3 then the ratio of the
currents passing through the wires will be
a)3 b) 1/3 c) 8/9 d)2
6) A current of 1A is passed through two resistances 1 2 and 2 Q2 connected in parallel. Current
flowing through 2 Q resistor will be

a) 1/3A b) 1A c) 2/3A d) 3A
7) Resistance of each 1 C2are connected as shown in the fig. The effective resistance between A and
Gis
""
B 1Q
A =\ YWy Wy *
10 1 € 1o DG
E |0 w
a) 16 Q2 b) 202 c)12Q2 d) 8Q2

8) The resistance of a wire is 10ohm. The resistance of a wire whose length is twice and the radius is half, if
it is made of same material is

a) 2002 b) 5Q c) 80Q2 d) 40Q2
9) The least resistance that one can have from six resistors of each 0.1 ohm resistance is
a) 0.167C2 b) 0.00167 Q2 ) 1.67Q d) 0.0167 Q2

1) The resultant resistance of two resistors when connected in series is 48ohm. The ratio of their


https://youtu.be/LQN-fRc52lA

resistances is 3:1. The value of each resistance is
a) 20Q228Q b) 32 Q2,16 Q2 c)36€2,12Q) d) 24Q), 24Q

CHEMISTRY
Board questions
Metals and Non- Metals

. A) List in a tabular form any three chemical properties on the basis of which metals and non-metals can
be differentiated.

S. no | property Metals Non metals

1. Nature of ions Positive ion Negative ions

2 Nature of oxide Basic / amphoteric Neutral / acidic
oxide

3 Reaction with water | React to form No reaction
hydroxide / and H2

. Write the chemical equations for the following reactions:
a) Calcium metal react with water,
b) Cinnabar is heated in presence of air,
c) Manganese dioxide is heated with aluminium.
Ca+ H20---> Ca(OH)2 + H2
HgS+ 02------> HgO + SO2
MnO2 + Al--2> Mn+ Al203+ heat
Explain the following:
a) Sodium chloride is an ionic compound which does not conduct electricity in solid state where as it
does conduct electricity in molten state as well aqueous solution.
b) Reactivity of aluminium decreases if it is dipped in nitric acid.
c) Metals like magnesium and calcium are not found in their free state in nature.
No free ions in solid state, in aqueous state and molten state ionic compound break to form ions.
Because of the formation of aluminium oxide,
Because they are highly reactive metal.
. Where does the metal aluminium, used in the process, occurs in the reactivity series of metals?
5t position , after magnesium.
. With the help of a suitable example, explain how ionic compounds are formed. State any three general
properties of ionic compound.
Exist in solid state, have melting boiling point, conduct electricity in molten and aqueous state
Na( 2, 8, 1)----> Na'! + e-
Cl(2,8,7) + e- ----- - CI?
Na* CI+++++++
{Na+1}{C|+++++++*-1}
NaCl

Draw the electron dot structure of AICI3 by electron transfer method.
Name a metal which is non-lustrous and one no n-metal which is lustrous.
lodine, sodium.



8. When a metal X is treated with cold water, it gives a base Y with molecular formula XOH (molecular
mass=40u) and liberates gas Z which easily catches fire. Identify X.Y and Z.
Na, NaOH, H2,

9. The compound obtained on reaction of iron with steam is/are:
a) Fe03 c) Fes04
b) FeO d) Fe,Os3 and Fe304

10. An element ‘X’ reacts with O2 to give a compound with a high melting point. This compound is also
soluble in water. The element ‘X’ is likely to be
a) lIron c) Calcium
b) Carbon d) Silicon

11. Give reasons:

(a) Platinum, gold and silver are used to make jewellery.
(b) Metals like sodium and potassium are stored under oil.

12. What are amphoteric oxides? Give an example. Write balanced chemical equations to justify your
answer. Write the electronic configuration two elements X and Y whose atomic numbers are 20 and 17
respectively. Write the Molecular formula of the compound formed when element X reacts with element
Y. Draw electron-dot structure of the product and also state the nature of the bond formed between both
the
elements.

X-2,8,8,2
Y 2,8,7
XY

VIDEO LINK: https://youtu.be/rHKuqgqJSU w

BIOLOGY

Assignment
Topic : How do organisms reproduce (3)

1. The growing size of the human population is a cause of concern for all people. The rate of birth in a given
population will determine its size. Reproduction is the process by which organisms increase their population.
The process of sexual maturation for reproduction is gradual and takes place while general body is still going
on. Some degree of sexual maturation does not necessarily mean that mind or body is ready for sexual acts or
for having and bringing up children. Various contraceptive devices are being used by human beings to control
the size of population.

(a) List two common signs of sexual maturation in boys and girls.

(b) What is the result of reckless female foeticide?

(c) Which contraceptive method changes the hormonal balance of the body?

(d) Write two factors that determine the size of a population.

2. Mention the functions of the male reproductive glands.


https://youtu.be/rHKuqqJSU_w

3. Hydra divides by
a. Multiple Fission

b. Budding
c. Regeneration
d. Vegetative propagation

4. Plasmodium divides by
a. Multiple Fission

b. Fragmentation
c. Regeneration
d. Vegetative propagation

5. What is the puberty age in human males?
a. 8-10 b. 10-12 c.12-14 d. 14-16

. Fruits are formed from
a. Stamen b. Stigma c. Ovary d. Ovule

(o2}

VIDEO LINK: https://www.youtube.com/watch?v=AlzxCwsBuSo

MATHEMATICS


https://www.youtube.com/watch?v=AIzxCwsBuSo
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VERY SHORT ANSWER TYPE QUESTIONS

FInd 5" term of an A_P. whose n™ term is 3n - 3

Find the sum of first 10 even numbers.

Write the #* term of odd numbers.

Wnite the sum of first » natural numbers.

Write the sum of first » even numbers.

Find the #*® term of the A.P. - 10, - 15, -2, - 25, ..........

b)
Find the common difference of A.P. 4%.43.4%. .............

Write the common difference of an A.P. whose n® term is @, = 3n + 7
What will be the value of @, — a, for the following A.P.
49014, 254

What is value of @, forthe AP. - 10,12, - 14, - 16, .......
3. k-2 5are in AP find £,
4

For what value of p, the following terms are three consecutive terms of an A.P. 3
P2
In the following A.Ps, find the missing terms in the boxes : (NCERT)
(a) 2,126 (b)) 3 13.13
© 5000395 @ -+ OO 00
(@ O3 OO0-2
Multiple Choice Questions:
(a) 30thtermof the A.P. 10, 7.4 _is

(A) 97 (B)y 77

€ -17 (D) 87

|
(b) llthtermofan A.P. -3, o r e is

(A) 28 (B) 22

(C) -38 (D) —48



(¢) manAPifd=-4,n=7.a =4 thenais

(A) 6 B) 7
(€) 120 (D) 28

(d) The first three terms of an A.P. respectively are 3y — |, 3y + Sand Sy + |
then y equals: (CBSE 2014)
(A) 3 (B) 4
C) 5 (D) 2

(¢) The list of numbers — 10, -6.-2.2, .. is
(A) AnAP withd=-16 (B) AnAP withd=4
(C) AnAP withd=-4 (D) NotanA.P.

(/) The 11thterm from the last termof an A.P. 10, 7.4, ..., - 62 is (NCERT)
(A) 25 (B) -32
(C) 16 (D) 0

() The famous mathematician associated with finding the sum of the first 100
natural numbers 1s
(A) Pythagoras (B) Newton
(C) Gauss (D) Euchd

(%) What is the common difference of an A.P. inwhicha,, a,,=327
(A) 8 (B) -8
) -4 (D) 4

15. Match the following :
ColumnA Column B

a+tc

(a)a=-18.n=10,d=2thenanof A.P. (a) =

(b) a, hand ¢ in A_P. then their Arithmetic mean is (h) O
(c) If 2.4, 6, are in A.P. then 4, 8, 12 will also be an (c) —41
(d) Ifa,=9 —5 nofan A.P. then a , will be (d) 8
(e) Ifd=-2,n=5anda, =0inAP thenais (e) AP
10. State True/False and justify
{a) 30l isatermof A.P.5,11,17,23 ... (NCERT)
(b Difference of mth and nth termof an A.P. = (m —n) d.
(c) 2.5,9.14, ..isanA.P.
() Sum of first 20 natural numbers s 410,

(e) nthiermofA.P. 5,10, 15,20 .... nterms and nth term of A.P. 15, 30, 45, 60,
... n terms are same.

VIDEO LINK: https://youtu.be/CC4bQyBL L ho



https://youtu.be/CC4bQyBLLho
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VIDEO LINK: https://youtu.be/orqRtPAEKHQ
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